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[_TvC(c.b.ch)=(3.7,4) J*>1 | _TvC(c.b.ch)=(3.7.5) == [ TVC(c,b,ch)=(3,7.6) [=**] [ TVC(c,b.ch)=(3,7,7) J2=*'>
4000 [, ! | pl -35.45+ 0.00 4000 G, ! | pl -34.73+ 0.00 4000 ! | p1 -35.84 + 0.00 4000 ! | pl -35.61+ 0.00
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3000f 1 3000 B 3000 — E 3000F 1
2000 -1 2000 - 2000 :— - 2000 -1
woof C = 27.16 [ps/c 1 woof C = 26.44 [ps/c . woof C = 26.81 [ps/c . w00k © = 27.86 [ps/ch 1
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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[_TVC(c,b.ch)=(3,11,0) F**/#1 | TVC(c,b,ch)=(3,11,1) F*°'> [ TvC(c,b,ch)=(3,11,2) = *] [ TVC(c,b,ch)=(3,11,3) |*='>
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